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Answer ALL questions.

PART A — (10 x 2 = 20 marks)

List four cloud service providers.

" Can the following be moved to cloud? Give reasons.

“Applications that require processing of large amount of data requiring
extreme disk inputfoutput operations and low latency”.

What is the purpose of adopting SOA for a cloud environment?
“Virtualisation facilitates disaster recovery” — How?

What type of cloud service do you need for a social networking application?

Justify your answer.

Give two examples for 1aaS and SaaS.

List the cloud security challenges. :

What are the security issues to be cbnsi.de.r'.l.ed in virtual machine's?_
What is the use of a c.ombi.n.ér. i;i MapReduceproglammmg mo.dezl:’?. | 3::.. S B

What is a virtual box?




'PART. B — (5 x 13 =65 marks)

'p_rop'erties. (&

ee pros and three cons of developing and hosting a
Lication in the cloud environment when compared to
' 3'ordinary web service and discuss. (M

(6)

U _ _n?f Describe in detail the different types of
ation - with examples. Bring out the advantages and
.h and the scenarios where they can be used. (13)
. Or

r_e Ievel ISA-level virtualisation. Explain the
1 them. Give one example VMM (virtual machine
r); that was ullt in each of the two categories. (13)

detail ayered cloud architecture with the functionality of each
(13)

(13)
any two approaches for resource pmwsmnma in cloud

(13)
Or

‘and  access management carried out in cloud
rate‘ with examples. SR (13)

ojffered for the same. (] 3)
: Or
_public/private cloud? Justify by discuséing briefly the

f Openstack with a block diagram. N (13)

9 - 70450




PART C — (1 x 15 = la malks)

16. (a) Consider a customer needs to uge services of hetemgenous cloud service
providers for his application, For example he needs Openstack private
cloud to manage his finances Amazon S3 to manage his storage and ECZ
to manage his compute requirements etc, What technigue can be used for
the same? Explain the 4 levels that cain be used for the customer.

Or
() Consider a Food delivery Company with branches in four different cities.
The company would like to maintain its orders, inventory, payment
details, HR details, delivery details in the cloud. What type of cloud

deployment model do you prefer? Why? Explain the model and the type of
cloud services required for the company.

3 70450




